Al Optic vs PlusoptiX

ABCD 2022
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Plusoptix v7.2.5.0
Cyclo Refraction cyclo plusoptiX a-12
spHr[cvLr [Axisr[spHI oy [axisi |angle tropia [psPHr [pcyir [paxist[pspHl [pcvil [paxisi
15 0 1.5 0 Se 0.5 0.5 71 0.5 1.25 98
4 1 95 3.5 2 85| -10 e HYP HYP
-0.5 1 90| -0.5 1 90 50 X(T) [na na
-2 2| 100| -0.3| 0.25 96 Se =L 4 96 0 0
-0.3| 0.5 90| 0.5 1 90 15 X(T) 0| 1.25 91 1| 1.75 105
-0.5 2| 100| -0.5 2 80 Se 0.25 2 104| 0.25 2 82
1] 05 90 1 0.5 90 Se -0.25| 0.75 105| -0.5| 0.75 85
-0.8 0 -0.8 0 -5 enyst: -2| 0.25 52 -2| 0.25 33
2.5 0 3.25 0 -10 e 0f 1.25 164| 0.25 0.5 17
-0.5 3 90 0 2 90| -10 E(T) -2.75 3 89 -1 175 80
0.5 0 0 1| 90| -15 €M) [na na
-2| 15| 100 -2 2.25 80 10 X(T) 5 1 103| -2.25 15 77
i 1 95 1 1 85 Se -1 i 112 -1 i 76
1.5 0 1.5 0 S5e 0.75 0.5 7 1| 0.25 128
-0.5| 0.5 180| -0.5 0.5 180 0 -0.5[ 0.75 177 -0.5 1 169
i 0 L5 0 10 x -0.25 0.5 82| -0.25 0.5 119
52 1 80| -0.5 1| 100 Se 52 1 78 -0.75[ 1.25 104
0.5 0.5 180| 0.5 0.5 180 30 X(T) 0.5| 0.25 179 0.5 0.5 7
-0.5| 15 90| -0.5 2.5 90 5x -0.5[ 0.75 89 0f 1.25 112
-2| 2.5| 180 -1.8 2| 180 5 x -1 2.75 6] -1.5 4 177
05| 05 90 0.5 0.5 90 5x 0f 0.75 97 0.25| 0.25 41
15 0 1.5 0 0 -0.25| 0.75 112| -0.25| 0.75 73
5.5( 0.75 90 6] 0.75 90 Se 0| 0.75 96| 1.25| 0.25 92
15 0 1.5 0 5x 0.25| 0.25 155| 0.25| 0.25 99
0.5 1.75 90| 0.25 2 90 5 x 0 2 77( 0.25 3.75 117
-0.5| 0.75 90 -0.5] 0.75 90 15 X(T) 0.25| 0.25 148 0 0.25 90
15| 0.5 90 2 1 90| -15 E(T) -0.25 0.5 79 0.25 1 94
2 0 2 0 5x 1.25| 0.25 84| 1.25| 0.25 81
-0.5| 0.5 180| -0.5| 0.75| 180 5x 0.5| 0.75 13 0.25 15 180
-0.5| 0.75 90| -0.5[ 0.75 90| -25 ET na na
[555) 0 3.5 0 Se HYP 0 0.25 114
-0.5 3 90[ -0.5 3 90 5e na na
1.25| 0.5 90( 1.25] 0.25 90 Se -0.25| 0.25 34 0 0
6] 15 90 6 i3 90| -15 E(T) |[na na
0 0 0 0 Se 0 0.5 105 0 1 98
-0.8| 0.5 180| -0.8 0.5 180 -30 ET na na
245 0 2.5 0 -10 e 0| 0.75 104 0| 1.25 84
-1 15 90 -1 1.5 90 5x -1.5| 3.75 93 -1 2.5 92
2.25 0 2.25 0 Se 0.75 0.5 96 0.5| 0.25 79
1| 0.5| 110 2 0.5 70 Se 0.25| 0.25 134| 175 0.5 39
-0.5 2 90| -0.5 2 90 5x 0.25| 3.75 92| 1.25| 3.25 90
-0.8| 0.5 180| -0.5 0.5 180 Se 0.25| 0.25 9| 0.25 0.25 18
-1 2 5 -1 2| 180 5x 1 1.5 16 1| 175 161
4| 0.25 90 4] 0.25 90| -10 E(T) -0.75| 0.75 116|HYP
-1 2.5 90 -1 2.5 90 5x -0.25 2.5 96( -0.25| 3.75 85
-0.3| 15 95| -0.5 i3 85 5 x 0.75 2 87 0.5 2 89
-0.3| 0.75( 180| -0.3 0.5 180 5x 0.5| 0.75 111| 0.25| 0.75 53
2 0 0.5 0 10 X(T) [na na
-0.5| 0.5 180| -0.5 0.5 180 0 -0.25( 0.25 78 0 0.5 81
1.75| 0.5 100| 1.75| 0.25 80| -15 E(T) 0f 0.75 117 0 1 87
0f 05| 180 0 0.5( 180 Se -0.75| 0.75 119 -1| 0.25 111
0.5 05 90| 0.5 0.5 90 Se 0.25| 0.25 84 0| 0.25 77
0.25 1 8| 0.25 15| 172 5x HYP HYP
0.5 2 81] 0.25( 2.25 85 10 x 05 2 97 0| 1.25 93
4] 2.25 74 4 1.5 96| -10 E(T) |HYP 1| 225 87
0.5 05 10( 0.5 0.5 180 20 X(T) -0.5 0.5 79 0| 0.25 113
3.75 1 93 4.25 1.5 84| -15 E(T) -0.25| 1.75 83 0.5| 2.25 84
5.25 1 80| 3.25 1.75 96| -10 E(T) |HYP 0.5 96
1.75) 0.75 86| 0.5 0.25 85 5x 1 1 81] 0.75| 0.25 78
-2.5| 0.25 90| -1.5 0.5 90 5x -1 0.75 26 0| 0.25 171
4.75 1 80| 0.75 0 10 X(T) |HYP 05 0
2.5 1 90 2.5 1 90| -10 EDVD|na na
15| 0.5 90| 1.5 0.5 90 20 X(T) 0 2 92 0| 2.75 79
-0.8] 0.75 89| -0.8 1 96 5x 0.5| 0.75 87| 0.25 s 84
2| 0.25 92| 3.75[ 0.75 78 Se 0.25| 0.25 41 3| 0.25 72
45| 15 90| 4.5 2 90| -20 E(T) |[na na
1.5 3 90 1.5 3 90 20 X(T) |HYP HYP
25 0 53 0 Se HYP 1.75 2 90
0.75 15| 100 0.5 1.5 80 20 X(T) -0.5 2.5 113 0f 1.25 79
-15( 3.5 103| -14| 3.25 89 10 x MYO MYO
0.5 05 90| 0.5 0.5 90 Se 0.5 0 0.25 0.5 101
2| 0.75 7 2 0.5 180 5x 0.25| 0.25 110| -0.25 0.5 93
0.25| 1.5| 101f -0.3 1 84 10 x 1.25| 2.25 92 0.5 a5 93
35| 05 92| 6.25 1 86 -4 e 2.5 1 95[HYP
-0.5| 25 96| -0.3[ 2.75 99 5 x -0.5[ 4.25 83| -0.75 4.5 105
175 05 96| 1.5 0.5 88| -20 E(T) -0.25| 2.75 71| 0.25| 0.25 101
-0.8| 4.25 84| -1.3 4.5 92 5x na na
0.5 05 92| 0.5 0.5 85 5 x 0.5| 1.75 77 0 2 79
-2.3| 2.25| 103| -2.5 1.5 91 5x -4.75| 7.75 90( -7.25| 8.25 89
2.25| 1.25 13 5.25 0.5 88 Se 0.75 0.5 12[HYP
6/ 0.5 77 1 0.5 92 Se HYP 0.25| 0.25 87
15 0 1.5 0 5x 0.5| 0.25 69 0.75 0.5 75
2.5 1.25 99 1 2| 104 Se 2 2.5 89 0 15 98
0.75| 0.25 86] 0.25[ 0.25 87 5x 0.25 1 14 0.5 0.5 159
25| 125 84] 5.75[ 1.25 92 Se 1 1.5 83|HYP
-0.5| 2.75 95( 0.25 0.5 93 5x 0 3 99 0.25 1 116
0f 2.25 98| -0.5[ 2.25 79 5 x 0.75 4 112| -0.25 2 72
-1.5 0 -1.5 0 5x L5 0 L1 0.5 147
0f 3.25| 116] 0.25 0 0 -0.5[ 5.25 119 0.5| 0.25 81
0.5 0.75 85] 0.75 0 Se 0.25 1 100| 0.25 1 86
1| 0.25 14] 15 0 -20 E(T) D 0.5| 0.75 95 -2 0.5 79
4.75 1 97 6] 0.75 79 15 XT na na
-0.8| 0.25 4 -1 0.5| 164 25 X(T) -1f 0.25 96( -0.75| 0.25 99
0.5 0.5 180 2| 125 36 5x -0.25| 0.25 154 0| 2.25 50
-0.5 1 71| -2.5[ 0.75 94 5x -0.5[ 175 73 -4.5 15 95
0.5 0 0.5 0 5x na na
-0.8 0 -0.8| 0.75 80 Se 0.25| 0.25 80 0.5| 0.75 83
-2.8| 2.25 92( 1.25 2.5 78| -20 E(T) -3 175 98[HYP
0.5 0 0.5 0 25 VX(T)[_0.75| 0.25 173 0.5| 0.25 80
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Al-optic 0.8.3
Al Optics
aCyLr |aAXISr[aSPHI [aCYLl |aAXIS||refer-a
0 90| -1.5| 0.75 91|pass
x
2 90| -2.5| 0.75 89| refer
i 87 =i 91 |refer
0.75 90| 0.25 1 91 refer
0.25 90 1 0 90 refer
0.25 90 1 0 90 refer
0.75 86 4.5 0.75 88 refer
[25] 93| -2.5 [235] 87| pass
0.5 90| 1.75 0 90|x
0.5 90 3| 0.25 90 refer
2.75 94 3 2 93 | refer
0.25 90 4 0.25 92 refer
refer
0.5 90| 2.75| 0.75 90 refer
x
0.75 27 4| 0.25 90 refer
i 87 LS| @ 90 refer
2 90| -4.75 15 90 refer
0.75 90| 0.25| 0.25 90 refer
0.75 93| 0.75 0.5 90| refer
0 90| 0.75| 0.25 90| pass
0.25 90| -3.25| 0.75 92 refer
0.25 90| -0.5| 0.75 91| pass
1.75 90 0.5 0 90| pass
0 90| 1.25 0 90| pass
0.25 90| 2.75 0.5 90 refer
0.25 90| 2.25 0 90| refer
0.25 90 0.5( 0.25 90 refer
0.75 86| -3.5| 0.25 90|x
0.25 90 1 0.5 90 refer
0.25 90| 2.25 0 90 refer
0.25 90| 2.75 1| 180|refer
0 90| 25 0 90| refer
0.25 90 i35 0.5 90 refer
0 90| 2.75 0 90| refer
X
2 90 -1 0.5 90 refer
0.25 90 2| 0.25 90 refer
i 90| 0.75| 0.25 90| refer
0.75 90 2| 05 90| refer
L5 90 2| 0.25 90 refer
pass
0.25 90| 3.25| 0.75 90 refer
0.5 90 285 0.5 90| refer
0.25 90 1| 0.25 90 refer
0.25 90| 1.25 0.5 90 refer
1.25 86| -0.75 1] 163|x
refer
0.25 90| 1.75| 0.25 90 refer
0.5 90 0 0.5 90| pass
7S] 90| 0.25| 1.25 90| refer
0.5 90| -0.25 0.5 90| pass
i 90| 2.25 0 90 refer
0 90| 1.75| 0.25 90| pass
0.75 92| 0.25 0.5 90| pass
0 90 2 0 90| refer
0.25 90| 2.75 0.5 90 refer
0 90| 0.75 0 90| pass
0.25 90| -0.25| 0.25 98| pass
refer
0.25 90 1| 0.25 90| refer
1.25 90 1| 0.75 90 refer
0.25 90| 0.75 1 91 |refer
0.25 90 1.5| 0.25 90 refer
0.75 93| -0.5| 0.75 91|x
X
0 90| 1.75| 0.25 90| pass
0 90| 0.75 0 90| pass
0 90| 05| 0.25 90| refer
0.25 90 2| 0.25 90 refer
0.25 90| 1.25| 0.25 90| pass
0.75| 108 2.75 0.5 90 refer
0.5 90| -5.5 0.5 90 refer
2 90| -6.75| 2.25 90 refer
0.25 90| 1.25| 0.25 90| pass
0.75 91| -2.75 1 70 (refer
0.25 90| 0.75 0.5 90| pass
1 86| -1.25 0.5 90 refer
1 89| 25 0 90| refer
0.75 88 -4| 1.25 91 |refer
0.75 91| 0.25 0 90 refer
0 90 1.5| 0.25 90| pass
0.25 90| 0.75 0 90| pass
0.25 90| -0.5| 0.25 90 refer
0 90 D] 0.5 90|x
0.25 90 0| 05 90| refer
0.25 90| -2.5 0.5 90| refer
0.5 90| 1.25 0.5 90 refer
0.25 90| -2.25 2.5 90| pass
0.5 90 -2 125 90 refer
0.25 90 1.5 0 90| pass
0.25 90| 0.25 0 90| pass
0.25 90| 0.25 0 90 refer
refer
X
0.25 90| 0.25| 0.25 90| pass
0.25 90 1 0.5 90 refer
0.25 90 0.5 0 90| pass
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-1.8| 3.75 97| -2.5 2 98 5 x 0 3 84 0| 2.25 77
-4.8| 5.75 90 -5 5.75 78 5x -2.25 4.5 96 -2.5 4.5 75
-0.8 1 96| -0.3[ 0.75[ 103 5 x -0.5 Z5 93 0.5| 2.25 92
0.25| 0.5 86| 2.75[ 0.75 82 Se 25 7S] 83|HYP
-5.8| 1.75 86| -4.5[ 1.25 93 0 MYO -6.5[ 2.75 91
=i 0 -0.8 0 0 -2 0.5 16 =i 0.5 171
-2.5| 0.25 97( -1.8 0 5x -5.25| 2.25 92| -3.75 1.5 86
0.25 0 0.25 0 5 x 1| 0.75 97 0.5| 0.25 71
-2.5 0 -1.3] 0.25 74 5x -3 0.5 80 -2.25| 0.25 104
-2.5 3 81 -2| 3.25 96 5 x -3.75| 4.25 80| -2.75| 3.75 90
0.25| 0.25 15( -0.3 0.5 163 5 x -0.5[ 0.25 10 -0.75[ 0.25 18
-14| 2.5 101 -1] 275 91 5x MYO -0.5 Z5 73
1.25 1.25 97| 0.5 1 94 3e 0.5| 1.25 92| -0.5 i 95
-0.5| 0.25 21| -0.3 0.25| 150 0 0.5| 0.25 13 0 0.25 21
1.5| 1.25 99| 1.5 2.25( 101 5 x 2.25| 1.75 94 1 0
3 0 3 0 Se 0.5| 0.75 12 0.5| 1.25 75
-1 1 82 0 1 83 5x -0.25| 1.25 93 0| 1.25 93
7.75| 1.75 84 8 2 90 Se HYP HYP
05 15 98| -0.3 1 96 5x 1] 1.25 89 0.5| 0.25 86
0.75| 0.25 80| 0.5 0.75 90 5 x -0.25| 0.75 86 0| 0.25 94
-3| 0.25 88 -3.3 0.5 98 5x -4.5 0.5 81 -5.5 1.5 100
1| 0.25| 180( -0.3| 0.25| 160| -15 E(T) 0.5 1 177| 0.75| 0.25 148
-0.8] 0.75 96| -1.3 1 84 5 x -0.5 1 100| -0.25 1 85
£ 0 -3.8 0 5x LD 0.5 101| -5.5 0.5 89
0.75| 3.75 96| 0.25( 3.75 92 5 x HYP HYP
-1| 1.25| 103| -0.8 1 86 5x 0f 1.75 111| -0.25 2 83
-3.3] 0.75 88 -3 0.5 84 25 XT na na
-0.3| 0.5 90| 1.75[ 0.75 86 Se -0.5[ 2.25 107 1 255 87
0.75| 0.5| 105[ 1.25| 0.25 75 Se 0.5 0 0.25 0.5 74
-5.5| 0.25 97| 0.5 0 5 x na na
0of 0.75 95| -0.3 0.5 90 5x -0.5[ 0.75 93] -0.5] 1.25 36
0.75| 0.25 95| 1.75 0 20 VvX(T) | _0.25 0.5 84 1| 0.75 111
0 0 -0.5| 0.25 77 0 0.75 1 90 1 4 91
1| 0.75 96| 0.25 0.5 180 Se 2 2 39 2| 0.75 39
2| 0.75 95 3 2| 100 Se 45| 4.25 77[HYP
2.5 1 90| 25 1 90 Se HYP 2.25| 1.25 100
4 0 3.75 0 -25 E(T) -0.25 i 77| -0.25 0.75 114
1.5 1 90 1.5 1 90 S5e 0.5 2 160| 2.25| 0.75 168
-2.5| 1.75[ 101 -2.3| 1.75 84 5 x -2.75 15 107 -3| 275 90
1.5| 0.25 97| 1.5 0.25 90 10 x 0.25 0.5 112| 0.75 0.5 81
-1 1.75 96 -2| 175 94 10 x -0.5 2 92| -0.5| 1.75 90
-3.8] 2.75 92| -3.8[ 2.75 94 5 x -4.25| 3.75 90| -3.25| 2.75 89
-2.3| 3.25 88 -3 4.5 92 5x -2.75 2.5 90 -2 275 105
-1.3| 3.75( 108| -0.8 353 87 5 x na na
-0.8] 05 73 -1 0.75] 120 5x 0 1.5 98 0f 1.25 91
-0.8| 1.5 102 -1.5| 1.25 83 5 x 0.25| 1.25 101 0.5 15 88
4.75 1.5 92| 4.25( 1.25 88| -15 E(T) |HYP HYP
-0.3] 0.25 28 0 0 5x 0| 0.25 57| -0.25| 0.25 130
-1f 2.75 92 1.5 0 0 na na
-2| 1.75 96 0 0.75 82 0 na na
-7.8| 2.5 86 =7 1 75 10 x MYO MYO
5.8 4] 91| 53 4] 82| 0 nystagna na
0.75| 0.5 90 1 0 Se -0.25| 0.25 98| -0.25 0.5 70
4.5 4 98 5] 3.25 82 25 X(T) 0.25 3 103| 0.75| 3.25 73
3] 15 81 3.75 0.5 92 Se 1.75 2.5 76 1 3 108
0.25| 0.5 90 0| 0.25 91 0 -1| 0.75 87| -0.5] 0.25 95
0.25 1 91 1.5 1 84 Se 0.5| 0.75 96 2.5 1.5 83
-0.3| 0.75 90 -2 i3 95 10 XT -0.25 1 86| -0.75 15 93
-3.3| 2.25( 100 -4] 25 87 5x = 2.5 93| -3.75| 2.25 80
3.5 05 95 4] 0.25 78| -10e HYP HYP
-0.5| 0.25 91 2 0 Se -0.25( 0.25 84 2 i 111
0| 0.75 92 0 0.5 87 5x 0.5| 0.75 90 0.75| 0.75 84
0.25| 0.5 88| 0.25 1.5| 108 Se HYP 1.5 15 109
0.5 2.25 94] 2.25 1| 107| -25 ET na na
-1.3] 25 91 -1 2 91 5x -0.5[ 2.25 75 = S5 91
15| 25 76 4 4 101 10 XT na na
-5| 0.75 90 5] 1.25 89 5x MYO MYO
0.5 0 0.5 0 5 x -0.5[ 0.75 94| -0.25| 0.75 103
-0.3 5.5 96 1 4.5 83 Se HYP HYP
0.25| 0.5 80| 0.25 0 5 x 0 0.5 92 0| 0.25 26
1.25 1| 165| 1.75| 0.75| 170 Se -0.25 0.5 148 0 0
-3.5| 0.25 167 -4.3| 0.25 97 5x -4.5[ 0.75 93| 45 15 89
-4.5| 2.75 99| -3.3[ 0.75 86 10 X(T) EoR2) 4.5 92| -3.75 1.5 85
-2.3 1| 107( -1.5 0 0 -2.75 1 98 -3 1.25 88
-0.3| 1.75( 130 2.5 2| 125 25 XT na na
-11 5.5 88| -11| 4.25 70 5x na na
2.25| 1.75 86| 2.25 0.5 98| -10 e 0.5| 2.75 82| -0.5 1 86
-1| 0.25 12 -1.5| 0.25| 167 5 x -1.75 1 3| -1.75[ 0.75 18
4.5 0 0.75 0 Se HYP 0 0.5 60
5.25| 2.5 74| 45( 2.75| 107| -20 E(T) -0.75| 4.25 65 -0.5 4.5 112
-0.3 0 0 0 0 -0.25| 0.25 101| -0.25| 0.25 70
of 25 83| -0.8[ 3.25 88 5x HYP HYP
15| 0.5 90 3] 0.25 80 Se 1| 0.75 100| 3.25 1 62
3 1 70 3 1[ 110 -10 E(T) -0.25| 2.25 61 0.5 4 113
-2.3| 0.5 171 -2 0.5 160 5 x 25 i 9| -2.75 1.5 169
-24 2.5 60| -24 2.5| 130 10 x na na
175 25 77| 2.75 1 95| -10 e -0.5[ 3.75 72 0.5 15 108
-4| 0.25 79| -2.3[ 0.25| 101 0 -7| 0.25 23 -3.5[ 025 30
4 1 60 5 2 99| -25 ET na na
-5| 3.25 91| -4.8 4.25 80 5 x -7| 6.25 91 -6| 6.25 90
-4| 1.25| 107| -2.5| 1.75 80 5x -5.25 1.5 103 -2.5 2 85
-0.3 0 -0.3 0 5 x AL 0 S5} 0
-0.5| 0.75| 180( -0.5 1] 180 5x 0.25| 0.25 171 1| 0.75 8
-4.8| 1.5 103 -4.5| 175 78 Se -5.5[ 225 99| -5.5| 3.75 87
-2.5| 2.75[ 105| -2.8 33 80 5 xT -2.75| 3.25 93 E2 4 71
2| 0.25| 180f 2.25| 0.25| 170 Se -0.25| 0.25 81| -0.25| 1.25 4
-13( 9.5 88| -11 8.5 101 10 x -6.75 55 89|MYO
-3.3] 5.25 83 -3.3 5.5 92 5x -3.75| 7.75 89 -3.25| 7.75 92
-5| 0.75| 129| -4.3| 0.25 74 10 x na na
0.5 0.25 19( 0.25| 0.25 70 5x 0| 0.25 4 0 0.5 23
-2.8| 0.25 91| -3.3] 0.75| 154 5x -3.75| 0.25 91| -3.25| 0.75 154

-1.5 2 90| -0.5| 1.25 90 refer
-3.75| 2.75 108 -4| 3.25 90| refer
-2.75 L5 90| -2.75| 1.75 90 refer

-0.5| 0.25 90 4 0.5 90| refer
2.25 0.5 90 3.5| 0.75| 151|refer
-1.25| 0.25 90| -1.25| 0.25 90| pass

-2.5 0.5 90 -3 125 90 refer

3125 91| 35 3 93 | refer

0.25 0 90| -0.25 1| 130|pass

-1.5| 2.25| 108 =i 2 31 (refer

-1.5| 0.25 90| -1.25| 0.25 90| pass
-6.75 1.5 90| -0.25| 1.25 90 refer

pass

0.5 o] 90 1| 0.25]  90[pass
2.25| 0.75 90 4 1|  127|refer

1| 0.25 90 3| 0.25 90| refer

0 90| 05| 05 90| refer

0.75 93 2.5( 0.25 90 refer

0.25 90| 0.75| 1.25 90 refer

0.5 90| 0.75| 0.25 90 refer

0.5 90| 3.25 1 94 | refer

0.5 90| -2.5| 0.25 90 refer

0 90 4.5| 0.75 90 refer

1.25 90| -4.25 1 90 refer

2.75 90| -1.75 2 90 refer

0| 0.25 90| -0.25 1 90| pass

0 0.25 90 0.5 0.5 90 refer

-5 15 90 = 1 92 |refer

-1 0.25 90| -0.5| 0.25 90| pass

-4| 1.75 90 1 0 90 refer

-1.25 0.5 90 0| 0.75| 108|refer

0.25 0 90 1| 0.25 90| pass
x

-4.5 0.5 90 = 0.5 90 refer

-0.5| 0.75 90| 0.75| 0.75 90| pass

-4 125 90| -3.75| 0.75 90 refer

-9.25 2 89| -8.75 1.5| 127|pass

0.25| 0.25 90| 0.75| 0.25 90| pass

-2| 0.75 90 -4.5[ 2.75[ 159(refer

0.5( 0.25 90| 1.25 0 90| pass
-5.25 2.5 92| -4.25 2 16 [pass
-0.75 i 90| 0.75| 0.75 90 refer

0 0 90 1| 0.25 90 refer
0.25 0 90 1| 0.25 90 refer
-1 0 90 1| 0.25 90| pass
0.5 90| 0.75| 0.75 90| pass

0.25 90 0f 0.25 90 refer

0.5 90| 0.25| 0.75 91 refer

0.5 90| 0.25 0.5 90 refer

15| 86| -1.75 2| 91pass

0.5 90 1| 075 90| refer

2! 90| -1.75| 2.25 91 |refer
0.25 90 2| 05 90| refer

0.5 90 3.5 0 90 refer

pass

0.75 0 90| -0.5| 0.75 91| pass

1 0 90| 2.25 0 90| refer
0| 0.25 90 0 1 90| pass
-3| 175 90 -4 175 163(refer

15 0 90| 0.75| 0.25 90| pass

-1.5| 175 90| 0.25| 0.75 90 refer
-1.75| 0.25 90 0 0.5 90| refer
2.25 0.5 90 25 1 90 refer

x

-1.5 1.5 90 0.5| 1.25| 147|refer

0.5 i 90 3.5 1 90 refer

X
1.25 92 2 2 91| refer
0.5 90 4.5| 0.75 95|x
0.25 90| 35 1 95 | refer
0.25 90 i35 0 90 refer
0.25 90| -1.75 0.5 90 refer
2 94 2| 2.25 94| refer
1 87 1.5 0.5 90| refer
0.25 90| 35 0 90| refer
2! 90| -8.75 5 90| refer
0.25 90 =il 2| 100(refer
0.25 90 0f 0.25 90 refer
0.75 90 0f 0.25 90 refer
0.25 90 -1| 1.25 90| pass
2 0.5 90| 0.25| 0.75 90| pass
1 0.5 90 3.5 0.25 90 refer
-1 i 86 0 0.5 90 refer
X
0 90| 1.25 0 90| pass
2.5 87 -8| 175 89 |refer
0.25 90| 2.75| 0.25 90 refer
. 0 90 i3 0 90| refer
-1.75] 0.25 90| -1.25 0 90 refer
0.75| 0.25 90| -0.25 0.5 90 refer
-1.75] 0.75 93| 0.25| 0.25 90 refer
-0.75 0 90 -1| 0.25 90| pass

-0.5 0 90 0.5 0 90| refer

-0.75| 1.25 94| 0.75| 0.25 90 refer
o[ 0.75 93| 1.75 i 86|x
-1.25 0.5 90| 0.75| 0.25 90 refer
0.75 0 90 0.5 0 90 refer
-3.5| 2.75 90 -1 2.5 90| refer

-1 0 90| 0.75 0 90| refer

25 1| 92| -05] 0.75] 87[pass

-2.25| 2.25 94 0.5 15 91 refer
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